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Vertex of a Parabola

Yesterday we talked about how to find the zeros and the axis of symmetry of a
parabola. Today we are going to find the vertex of a parabola.

Vertex - the highest or lowest point on a parabola

M__‘:,.mec]

* Ifaparabola opens upward, the vertex is the lowest point.
e Ifaparabola opens downward, the vertex is the highest point.

Interesting Fact: The x-coordinate of the vertex will always be the
same as the axis of symmetry line. (See Picture)

How to Find the Vertex

Step 1: To find the x-coordinate of the vertex, find the axis of symmetry by using

b
zeros or the formula —.
2a

Step 2: To find the corresponding y-coordinate, substitute the x-coordinate of the
vertex into the function.

Step 3: Write the vertex as an ordered pair.
Example #1 Find the vertex of y = -x* —2x.
) . N . -b
Step 1: Find the x-coordinate by first finding the axis of symmetry. ( Use > )
a

Whatisa? _ ~ | (2 J
-7 Z(") ks

Whatis b?
Step 2: Plugin the x-value you just got into the equation and find y.
gz =0 -2(-)
= -l 4z y=|

Step 3: Write your answer as a coordinate point. (- >

Come show me your answer so 1 know you’re on the right track!

Assignment: Practice B Worksheet + pg 604 #13-16 and #29-32
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Characteristics of Quadratic Functions

Find the zeros of each quadratic function from its graph.
1.

y

~6¢ no  2er 05 5
Find the axis of symmetry of each parabola.
4. ¥ 5. y 6. ¥
'Z/&S
Z
%5
w = 3.5 X=3 X = -
For each quadratic function, find the axis of symmetry of its graph. Jz -\
- . — = %
(/“ [ 7.y=3x>-6x+4 8. y=—x2+4x = °
2%

Lo T 9. y=44+ %x +3 2(D

X ‘y/e

X=|

X =2

Find the vertex of each parabola.
10. y=3x?-6x-2

1. y=3x2+12x- 10

12. y=x?+2x-35
(1,-5) (-2,-22) (-1,-36)
-(-) ¢ . - ey = °Z :
L L8 e LN S D -2 s
el ¢ z(3) . * 2N €
v O A R4 - 3(’2\)1 srz(-2) -0
s ..oz 7 ‘

y = (020 =35

= (z -z7d —t0 = -2 ~3%5
= =5
Y
N, T~ 3Z6
4
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gj 603 3, sero . x= -1 Y, =zeros i -3, 3
g Yo | 2. 2eo: g ‘
gz (D7D gz 9 (-2 y: 1 (2 ]
R £ ] Y.
To -2 = 9-19 = =1
= o0V = 0o v = g & |
5. no =zeros 8. (zeros : x= M oand | ) |
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I - — =
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. x Y o. x= Y 0 oxe Y 2 x: Y
- o '(L/)/Z(,) ) X = -( ‘8)/2(3) wF '(3%(23 X : -(-D,/,z_(,—g) =
- - = . =5 3 -1
*C , X=-2) X=3] %) ke
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